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7.10 The excess pressure inside a bubble (discussed in Chapter 1)
is known to be dependent on bubble radius and surface tension. Af-
ter finding the pi terms, determine the variation in excess pressure
if we (a) double the radius and (b) double the surface tension.

Given ap =f(R,0), where Aﬁﬁ'gﬁﬁ-/i—z‘, RZL, and
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Consider the (MLT) ynits sothat

k-r=3-3=0 since there 3 variables and 3 dimensions.
Bocording o this there shovld be k-r=0 prierms/?
Hovever, if we consider the (FLT) units we see fhat jf fakes
only Fand L, Tis not needed, so thal r=2,
Hence, k-r=3-2 =1, so only | pi term is needed.
That is | 7] = constant
To defermine T, consider

7 =2p R or
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This:

F: l+b=0

L: a=b-2+=0

or b==| and a=h+t2 =1
Hence T, = éoﬁ,_g or égiq- =C, where C=constant.

or
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(@ If Ris dovbled , ap is redvoed By half. (see £5.01)

(W IfTis da#bfeal_, Aﬂ /s dovbled . ( See E?, ())




